SWISS QUALITY

T O
n'ca.wmin

=Er—
SW6

KT 1x
(160 - 200 cm)

FT 1x
(160 - 200 cm)

A 4x B 2x @

SWb

Foax |G ax
W

M8x20 RK 5x20

Vers. 1/23

LH 2x

SW5
LT 1x
Xy

F 30x G 4x H ax | 2x
. »
w W
M8x20| RK5x20| SK 4x20 M10x35
MA.Be 016 1/2



F 24x

G 4x

RK 5x20

SK 4x20

| 2x

»

M10x35

Vers. 1/23

MA.Be 016 2/2



Verstarkungswinkel
Equerres d'assemblage
Placchette di rinforzo

Reinforcement bracket

M
®

ca. 15 min

SWISS QUALITY

Vers. 1/18






